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KALAIMAGAL MATRIC HIGHER SECONDARY SCHOOL, MOHANUR.

STD :XII MATHEMATICS MARKS: 50
DATE: ONE MARK TEST-V (BB FULLY) TIME: 30 min
Choose the correct answer: 50x 1 =50
4 _[12 =17 11 -1 a1
1. f(AB)™" = 19 27 ] and A™ = [_2 3 ],then B

{2 —5} [8 5} {3 1}
m b‘ a m
1A2:

n d c n

5l
4) -3 2

a b
°y¢ ,A3:‘C d‘,then the value of x and y are

2. If x*y"=e", x°y'=¢" , A, =

respectively,
1) e(AzlAl)’ plAslA) 2) IOg(AllAa)JOg (AZ /AS)

3)Iog(A2 A)),log(A, 1 A) 5 e(4i/s) g(2/3)

3. If p(A)=p([ AB]), then the system AX =B of linear equation is
1) Consistent and has a unique solution 2) Consistent
3) Consistent and has infinitely many solution 4) Inconsisitent

4. If 0<6<r and the system of equations Xx+(sin@)y—(cosd)z=0,(cosd)x—-y+z=0,

(sin@)x+y—z=0 has anon-trivial solution then ¢ is

2 3 5 x
1) 3 2) 4 3) 6 4) 4
2 -1 1 3 1 -1
5 Let A=|-1 2 -1|and4B=|1 3 x |. If B istheinverseof A, then the value of x is
1 -1 2 -1 1 3
1)2 2) 4 3)3 4)1
6. The solution of the equation |z|—z =1+2i is
§—2i —§+2i 2—§i 2+§i
1)2 2) 2 3 2 4 2
7. 0f (1+0)(1+2i)(1+3i)....(1+ni) =x+iy, then 2510...(1+n?) is
1)1 2) i 3) X2 +y? 4)1+n?
8. If o and S are the roots of x*+x+1=0, then &® + % is
1) —2 2) -1 3)1 4) 2
1 1 1
9. If w#1 isacubicrootofunityand I -’ -1 °|=3k,then k isequal to
1 o o
1)1 2) -1 3) V3i 4) —/3i
7+1 o o’

10.If o= cisz—ﬁ , then the number of distinctrootsof | @ z+w® 1 |=0
3 o’ 1 2+
1) 1 2)2 3)3 4) 4
11. The polynomial x*+2x+3 has

1) one negative and two imaginary zeros  2) one positive and two imaginary zeros
3) three real zeros 4) no zeros
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The number of positive zeros of the polynomial Z "C,(-1)'x" is
j=0
10 2)n 3) <n 4)r
If the function f (X) =sin’1(x2 —3), then x belongs to
sin"!(2cos?x — 1) + cos™1(1 — 2sin%x) =
1) 5 2) 3 3) Z 4) :
— 4(1 Vi .

If sin™ x+cot (EJ:E , then x is equal to
1)1 2)i 3)i 4)£

2 J5 J5 2
sin(tan1x), |x| < 1 is equal to

X 1 1 X

1) J1—x? 2) 1—x? 3) NED'G 4) NED'G

2 2
The equation of the circle passing through the foci of the ellipse :_6+y3 =1 having centre at (0,3)is

1) X HY =By =T=0 ) X'+ Y =6x+7=03) X’ +y'~6y-5=0 5 X' +y*—6y+5=0

2

2

Avrea of the greatest rectangle inscribed in the ellipse X—2 + é =1is

a
1) 2ab 2) ab 3) Jab 4 =

2
The eccentricity of the ellipse (x—3)* +(y—4)* = y? is
y B 2 L PN oL

2 3 32 3

The circle passing through (1,—2) and touching the axis of x at (3,0) passing through the point
1) (_5! 2) 2) (21 _5) 3) (5’ _2) 4) (_21 5)

The values of m for which the line y =mx+2+/5 touches the hyperbola 16x? —9y? =144 are the roots
of x*—(a+b)x—4=0, then the value of (a+b) is

1)2 2) 4 3)0 4) -2

Consider the vectors @, b, ¢, d such that (@ x b) x (¢ x d) = 0. Let P1and P, be the planes

determined by the pairs of vectors a, b,and ¢, d respectively. Then the angle between Prand P> is
1) 0° 2) 45° 3) 60° 4) 90°

The coordinates of the point where the line #=(61 — j —3k) + t(—1i + j + 4k) meets the plane
7.1+ ] +k)=3are

1) (2,1,0) 2) (7, —1,-7) 3) (1,2, —6) 4) (5, -1,1)

If the direction cosines of a line are % %% then

1)c=+3 2)c=+V3 3)c>0 4)0<c<1

The maximum product of two positive numbers, when their sum of the squares is 200, is

1) 100 2) 25\7 3) 28 4) 2414

The vector equation 7=(i — 2] —k) + t(61 + j — k) represents a straight line passing through
the points

1) (0,6, —1) and (1, —2,—-1) 2) (0,6, —1)and (-1, —4,—-2)

3)(1,—-2,-1) and (—1,4,-2) 4) (1,-2,-1) and (0, —6,1)

If the planes 7.(21 — Aj +k) =3 and #.(4i — j —uk)="5 are parallel, then the value of 1 and y are
1)~ -2 2) -2 3) - -, —2 4)-,2
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Find the point on the curve 6y = x> + 2 at which y-coordinate changes 8 times as fast as
X-coordinate is
1) (4.11) 2y (4.-11) 3) (-4.11) 4 (-4-1D)
The function sin® x +cos* x is increasing in the interval
SE L BE JE
1) 8 4 2) 2 8 3) 4 2 4) 4
The curve y =ax* +bx®> with ab>0
1) has no horizontal tangent 2) is concave up
3) is concave down 4) has no points of inflection
The approximate change in the volume V of a cube of side x metres caused by increasing the side by
1% is
1) 0.3xdxm’ 2) 0.03xm’ 3) 0.03x°m’ 4) 0.03x°m’
If u(x,y)=x>+3xy+y=2019, then a—l:( is equal to
(4-5)
1) -4 2) -3 3) -7 4) 13
It W0, ,2) = Xy —2) + y? (2 y) + 22 (x=y) , then 2 O Wi
oXx oy oz
1) Xy + Yz + zX 2) X(y+2) 3) y(z+X) 4)0
i
The value of _fcos3 3x dx is
2 2 1 1
1) 3 2) 9 3) 9 4) 3
The value of _[e"”x x> dx is
0
7 k) "/ 2
1) 27 2) 27 3) 27 4) 27
X Lsinu 3 _sinx?
If jeu du, x>1, and je —dx= %[f (a)— f ()], then one of the possible value of a is
1 1
13 2)6 3)9 4)5
a 3
The value of j(\/az —~ xz) dx is
0
ﬂ_&3 3ra’ 3ra’ 3ra’
1) 16 2) 16 3) 8 4) 8
The degree of the differential equation y(x) =1+— dy (dyj +— L (dy) +. 1S
dx 12 dx 1.2.3\ dx
1)2 2)3 31 4)4
: : . . dy ax+3 . :
If the solution of the differential equation ax = v it represents a circle, then the value of a is
X 2y+
1)2 2) -2 31 4) -1
The solution of dy =27 is
dx
1) 2°+2" =C 2)2"-2"=C 3)——2—1y=C 4) x+y=C
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Integrating factor of the differential equation ﬂ: xty+l 5
dx X+1
1 1
1) — 2) x+1 3 4) Jx+1
) ) ) Jt I

The slope at any point of a curve y = f(x) is given by % =3x* and it passes through (-1,1).
X

Then the equation of the curve is

1y=x3+2 2)y =3x*+4 y=3x3+4 4)y=x3+5

Two coins are to be flipped. The first coin will land on heads with probability 0.6, the second with
Probability 0.5. Assume that the results of the flips are independent, and let X equal the total number
of heads that result. The value of E[X ]is

1) 0.11 2) 1.1 3)11 4)1

Suppose that X takes on one of the values 0, 1, and 2. If for some constantk, P(X =i) =k P(X =i-1)

for i=1, 2 and P(X =0) =%. Then the value of k is

1)1 2) 2 3)3 4) 4
2x 0<x<a . . . i .

If f(x)= ) IS a probability density function of a random variable, then the value of
0 otherwise

ais

1)1 2)2 3)3 4)4

The probability function of a random variable is defined as:

X -2 | -1 0 1 2
f(x)| k |2k | 3k | 4k | 5k
Then E(X) is equal to:

1 1 1 2
1) 15 2) 10 3) 3 4) 3
p q (pAg)—>—Pp
T T (a)
T F (b)
F T (c)
F F (d)

Which one of the following is correct for the truth value of (pAq) > —p ?
@ () (© (@

1) T T T T

2) F T T T

3 F F T T

4) T T T F

The dual of —(pvQq)v[pv(pAa—r)]is

1) ~(pAg)Alpv(pA-r)] 2) (prg)A[pA(pv—r)]
A AlpA(pAT)] f-(prg ApA(pV-r)]
Subtraction is not a binary operation in

)R 2) 7. 3)N 4)Q

Which one of the following is not true?

1) Negation of a negation of a statement is the statement itself.

2) If the last column of the truth table contains only T then it is a tautology.
3) If the last column of its truth table contains only F then it is a contradiction
4) If p and g are any two statements then p <> q is a tautology.
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